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#h_E5cm #h_E50cm #h E1m
(1) #EE 0. 11 0.11 0.10
2) w5 0.10 0.10 0.10
Q) 1HBERBREA ZEE 0.08 0.08 0.08
@) 1BEEREEA T 0.08 0.10 0.09
B) 1EILSIL—LB BE 0.08 0.07 0.07
(6) 1EEFLAL—LB 0.06 0.07 0.07
(7) 1BEPTARE=EC EIE 0.09 0.08 0.08
(8) 1PEPTAZREB=C dhk 0.09 0.08 0.08
9 HWEMA 0.16 0.11 0.10
(10) #E#B 0.09 0.10 0.08
(1) #E#mc ( &m ) 0.10 0.09 0.10
(12) #E¥%D ( *EFH ) 0.10 0.09 0.09
(13) HEKEA 0. 11 0.09 0.09
(14) #eKkiEB 0.15 0.1 0.12
(15) #WE (¥RYEH) 0.16 0.12 0.13
(16) BRZELTFBERIGFT 0.09 0.09 0.09
(17) #KEBAOTS Y FR—LE 0.22 0.11 0.09
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(1) ka1 XE 0.14 0.11 0.09
(2) WHE2 K& 0.12 0.09 0.09
(3) TEHES RE 0.25 0.12 0.09
(4) WHE4 KE 0.22 0.13 0.1
(b) TEHES XE 0.10 0.09 0.09
(6) THHE6 K& 0.14 0.10 0.09
(7 w7 RE 0.15 0.08 0.08
(8) THEs ®&E 0.22 0.13 0.1
(9 ™RHE9 RE 0.38 0.14 0.09
(10) b1 0 K& 0.08 0.08 0.07
(11) mtE1 1 B&E 0.15 0.12 0.09
(12) mHE1 2 K& 0.26 0.14 0.12
(13) /MtE1 3 BREENS 0.13 0.08 0.07
(14) M1 4 BREDS 0.09 0.08 0.07
(15) Mt 1 5 BREES 0.16 0.10 0.08
(16) MHa1 6 BRIEHS 0.15 0.1 0.10
7)) M1 7 BREE)S 0.18 0.11 0.09
(18) M1 8 BREHS 0.20 0.1 0.07
(19) Mt 1 9 BREEIS 0.19 0.10 0.08
(20) MHE2 0 BRIEHS 0.12 0.09 0.07
(21) mHE2 1 BREE)S 0.12 0.08 0.07
(22) MHE2 2 BREHS 0.42 0.15 0.09
(23) MtE2 3 BREENS 0.18 0.09 0.07
(24) M2 4 BREHS 0.19 0.09 0.07
(25) HE2 5 BREES 0.12 0.07 0.07
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(26) FHE2 6 BRHEENS 0.12 0.08 0.08
(27) TRHE2 7 iR 0.10 0.09 0.07
(28) FEtE2 8 fihiR 0.13 0.09 0.07
(29) FRHE2 9 fihiF 0.31 0.14 0.10
(30) FHE3 O fih#f 0.1 0.09 0.07
(31) FRAE3 1 fihiR 0.09 0.09 0.09
(32) THHES 2 fih#f 0.20 0.14 0.12
(33) FEAE3 3 fihiR 0.12 0.11 0.10
(34) THHES 4 fihiR 0.40 0.13 0.09




